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SUMMATIVE ASSESMENT -I

Exercise

1. Simplify 

Watch Video Solution

( − 24) × ( − 8) × ( − 10)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5xDfUL6UZSG1
https://dl.doubtnut.com/l/_1iMObSxGstWd


2. Which one is greater  of  or  of 

Watch Video Solution

1

3

4

5

1

2

2

5

3. Express 0.01 mm in cms.

Watch Video Solution

https://dl.doubtnut.com/l/_1iMObSxGstWd
https://dl.doubtnut.com/l/_GqLV11Ex5EnU


4. Find the values of x and y from the figure.

Watch Video Solution

5. The length of a flag is 90 cm breadth is 60cm

then find the ratio of length and breadth.

Watch Video Solution

https://dl.doubtnut.com/l/_cAUVjPkKMG5z
https://dl.doubtnut.com/l/_BZkR6iEmTgOK


6. Raju and rani had climbed the  part of

steps of a building then what is the remaining

part of the steps to be climbed.

Watch Video Solution

11th

12

7. Prove that  by using SAS

congruency rule.

Watch Video Solution

△ AOB ≅ △ COD

https://dl.doubtnut.com/l/_BZkR6iEmTgOK
https://dl.doubtnut.com/l/_ros2n2BY6u9J
https://dl.doubtnut.com/l/_5BHKlqOJPRpF


8. The marked price of a book is Rs. 180. In a book

fare 15% of discount allowed. Then what is the

selling price of that book in book fare?

Watch Video Solution

9. Represent 6-2,-7-(-5) on the number line

Watch Video Solution

10. From the adjacent figure find the area of

rectangle ABCD and area of ABC and mention△

https://dl.doubtnut.com/l/_nMFBHT5LutO9
https://dl.doubtnut.com/l/_mJJuhuZaiKDD
https://dl.doubtnut.com/l/_4PYUqC1AAzgu


the relation between them.

Watch Video Solution

11. Verify

Watch Video Solution

−14 × (6 + ( − 9)) = ( − 14 × 6) + ( − 14 × − 9)

https://dl.doubtnut.com/l/_4PYUqC1AAzgu
https://dl.doubtnut.com/l/_vGutZQno9KPp
https://dl.doubtnut.com/l/_upEYqZ75wAAJ


12. Sudha and Ramya are trying to construct 

BAG with measurements BA=5cm, , 

. This can be success to construct it or

not. Give reasons.

Watch Video Solution

△

∠B = 100∘

∠A = 95∘

13.  is this true or false prove it.

Watch Video Solution

1003 × 106 = 109

14. Find T if P = Rs 6500  and I = Rs 455

h id l i

R = 2 %
1

3

https://dl.doubtnut.com/l/_upEYqZ75wAAJ
https://dl.doubtnut.com/l/_aijh7n3mcrbK
https://dl.doubtnut.com/l/_QTny77kjZB3W


Watch Video Solution

15. The sum of three expressions is .

Among them  and  are

two expressions. find the third expression.

Watch Video Solution

9a2 − 11a + 8

3a2 + 5a + 2 2a2 + 6a + 3

16. Find the angles in  if 

Watch Video Solution

△ ABC

∠A = 5∠B and 2∠C = 3∠B.

https://dl.doubtnut.com/l/_QTny77kjZB3W
https://dl.doubtnut.com/l/_qHLEbaNhvwLe
https://dl.doubtnut.com/l/_wld26CrOYRx1
https://dl.doubtnut.com/l/_pNMTZdwXbIit


17. The floor at a school consists of 100 tiles which

are rhombus shaped to practice yoga. The

diagonals of each rhombus are 150 cm and 175 cm.

Find the total cost of polishing the floor if cost

per  is Rs12.

Watch Video Solution

m2

18. Find the perimeter of the triangle whose sides

are 3a-2b, 4b+5a, and 

b-2a.

Watch Video Solution

https://dl.doubtnut.com/l/_pNMTZdwXbIit
https://dl.doubtnut.com/l/_pygu5jLDQlLV


19. Construct 

/_B= 45^@` and BC= 6cm

Watch Video Solution

△ `ABC ∈ whichAB = 5cm,

20. Draw a double bar graph for the data as per

the details of ward wise polled votes in a village.

Watch Video Solution

https://dl.doubtnut.com/l/_xhBzokrp3ZH0
https://dl.doubtnut.com/l/_U1m0oC6JAX40
https://dl.doubtnut.com/l/_X4pzo8Mkeer0


21. Write the following integers in descending

order. 10,-6,20,-84,-2

Watch Video Solution

22. Express 1233.56 in the form of p/q

Watch Video Solution

23. In a triangle, the angles are 

and . Then Find the Angles.

Watch Video Solution

2x ∘ , (x + 30) ∘

(x − 10) ∘

https://dl.doubtnut.com/l/_X4pzo8Mkeer0
https://dl.doubtnut.com/l/_43siK3BngA9L
https://dl.doubtnut.com/l/_HsLylhwLjtxR


24. Sum of three consectuve integers is 18. Find

the integers.

Watch Video Solution

25. The equal sides of an isosceles triangle 3.5cm

each and the other side is 2.5cm. What is the

perimeter of the triangle?

Watch Video Solution

26. Verify: 20 × [8 + ( − 2)] = [20 × ( − 2)]

https://dl.doubtnut.com/l/_gdw9uB6aiA85
https://dl.doubtnut.com/l/_O9glhdcOdenz
https://dl.doubtnut.com/l/_Ho3vo1paPBHA


Watch Video Solution

27. Name all the possible angles you can find in

the following figure. Which are acute, right,

obtuse ane straight angles?

Watch Video Solution

https://dl.doubtnut.com/l/_Ho3vo1paPBHA
https://dl.doubtnut.com/l/_Mw4Pr61uItQ5


28. Solve: I am a number, tell my identity, take me

two times over and add a thirty six and to reach a

century you still need four.

Watch Video Solution

29. In 

.Find the three angles of ABC.

Watch Video Solution

△ ABC, ∠A = 3∠B and ∠C = 2∠B

△

https://dl.doubtnut.com/l/_fvqwcOOJDP6M
https://dl.doubtnut.com/l/_L2FaJ9FTt7R5


30. Find the measures of x,y and z in the figure.

Watch Video Solution

31. Simplify: 

Watch Video Solution

2 + 3
2

3

1

4

https://dl.doubtnut.com/l/_KlUwFek9JO6m
https://dl.doubtnut.com/l/_NpBXsFRl2zRT


32. Simplify: 

Watch Video Solution

1 +
4

9

3

7

33. Simplify: 

Watch Video Solution

× 4
5

6

2

7

34. Simplify: 

Watch Video Solution

3 +
2

5

5

9

https://dl.doubtnut.com/l/_i7gzMP9wDu9Q
https://dl.doubtnut.com/l/_0UrD8687gWpt
https://dl.doubtnut.com/l/_5jLmDUCozJDT


35. Total number of boys and girls in a class is 52.

If the number of girls is 10 more than that of boys,

find the number of boys.

Watch Video Solution

36. Show that the sum of the exterior angles of

 is 

Watch Video Solution

△ ABC 360∘

https://dl.doubtnut.com/l/_oBYPXDwCHTX7
https://dl.doubtnut.com/l/_jYeQozFPgpuP


37. In a class test containing 10 questions, 3 marks

are awarded for every correct answer and (-1) mark

is for every incorrect answer and 0 for 

the question not attempted. Kiran gets 5 correct

and 5 incorrect

answer. What is his score.

Watch Video Solution

38. In a class test containing 10 questions, 3 marks

are awarded for every correct answer and (-1) mark

is for every incorrect answer and 0 for the

https://dl.doubtnut.com/l/_68OIp751igk2
https://dl.doubtnut.com/l/_XahhVXPnxm7S


question not attempted. Ramya gets 7 correct and

3 incorrect answers. What is her score?

Watch Video Solution

39. Represent 8-(-7) on the numberline.

Watch Video Solution

40. Represent 5+7 on the numberline.

Watch Video Solution

https://dl.doubtnut.com/l/_XahhVXPnxm7S
https://dl.doubtnut.com/l/_UKpkrZUgtwk8
https://dl.doubtnut.com/l/_Tx6OwaWI5Zks
https://dl.doubtnut.com/l/_5q9ebBbkAsbi


41. Represent  on the

numberline.

Watch Video Solution

4 × ( − 3) = − 12

42. Represent 

Watch Video Solution

( − 2) − ( − 1)

https://dl.doubtnut.com/l/_5q9ebBbkAsbi
https://dl.doubtnut.com/l/_buOyfo6shcYD


43. Shade  of the circles in a box.

Watch Video Solution

3

4

https://dl.doubtnut.com/l/_g0rqdIuaAyiz


44. Shade  of the triangles in box.

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_27mbdl2gHwLq


45. Shade  of the rectangles in box.

Watch Video Solution

2

5

https://dl.doubtnut.com/l/_NXnPqAm38aDI


46. Shade  of the squares in box.

Watch Video Solution

1

4

47. Sum of two negative integers is always-

A. Positive

https://dl.doubtnut.com/l/_eQUWZTjkPcyg
https://dl.doubtnut.com/l/_a4pNYQjlptB8


B. Negative

C. 1

D. 0

Answer:

Watch Video Solution

48. Which of the following set of numbers in

descending order?

A. 2, -2, 1, -1

B. 1, 0, -1, -2

https://dl.doubtnut.com/l/_a4pNYQjlptB8
https://dl.doubtnut.com/l/_4eHmca027MKi


C. -3, -2, -1, 0

D. 0, 1, 2, 3

Answer:

Watch Video Solution

49. Which of the following will give answer with

negative sign?

A. 

B. 

C. 

−48 + 79

−18 + 8

0 + 5

https://dl.doubtnut.com/l/_4eHmca027MKi
https://dl.doubtnut.com/l/_tdbaNSX18jD1


D. 

Answer:

Watch Video Solution

48 + ( − 39)

50. What will be additive inverse of 7?

A. 

B. -5

C. -6

D. -4

−7

https://dl.doubtnut.com/l/_tdbaNSX18jD1
https://dl.doubtnut.com/l/_2LXMLNO172fH


Answer:

Watch Video Solution

51. What is the value of ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
5

8

3

8

37

16

1

8

2

8

43

8

https://dl.doubtnut.com/l/_2LXMLNO172fH
https://dl.doubtnut.com/l/_ohTD5W1IhJFn


Watch Video Solution

52. The value of  of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4
1

3

8

3

104

9

8

13

9

4

21

16

https://dl.doubtnut.com/l/_ohTD5W1IhJFn
https://dl.doubtnut.com/l/_r73zy6X0MzgK


53. The value of  is

A. 403

B. 0.403

C. 0.0403

D. 4.03

Answer:

Watch Video Solution

1.3 × 3.1

https://dl.doubtnut.com/l/_2XoURjzqcu9N


54. Which is a solution of the equation

?

A. X=2

B. x=3

C. x=6

D. x=4

Answer:

Watch Video Solution

3x − 14 = 4

https://dl.doubtnut.com/l/_s5hMLt0JN74X


55. The solution of the equation  is 

A. 12

B. 11

C. 10

D. None of these

Answer:

Watch Video Solution

2p − 1 = 23

p =

https://dl.doubtnut.com/l/_1WfeLYCstHa4


56. The solution of the equation 4(m+3) =18 is m=

A. 

B. 

C. 3

D. None of these

Answer:

Watch Video Solution

6

4

30

4

https://dl.doubtnut.com/l/_RTyvLXVrkc4c


57. In  if  , and 

is a transversal,

,then =_____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

rec tan g ≤ ABCD BC ∣ ∣ AD ¯̄¯̄¯̄BD

∠ADB = 100∘ − 4x ∘ , ∠CBA = 180∘ − 5x ∘

x ∘

90∘

55∘

125∘

180∘

https://dl.doubtnut.com/l/_yjAx5vX0b0hu


58. Find the angle, which is equal to its

complement is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

30∘

25∘

35∘

45∘

https://dl.doubtnut.com/l/_wIskKx5NXsnY


59. Simplify combining like terms: (ab − 4a) + (4b −

ab) + (4a − 4b)

Watch Video Solution

60. Which is the largest side of a right triangle?

A. Perpendicular

B. Base

C. Hypotenuse

D. None of these

https://dl.doubtnut.com/l/_gmAGlsV4vS7x
https://dl.doubtnut.com/l/_iV7EQABa470v


Answer:

Watch Video Solution

61. 72% of 25 students are good in Hindi, how 

many are not good in Hindi?

A. 16

B. 14

C. 18

D. 7

Answer:

https://dl.doubtnut.com/l/_iV7EQABa470v
https://dl.doubtnut.com/l/_xuH7XRvTw6nt


Watch Video Solution

62. How much will be the cost if 10% discount is 

given on the marked price Rs.100?

A. 90

B. 110

C. 95

D. 85

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xuH7XRvTw6nt
https://dl.doubtnut.com/l/_FCI1ODTO4tQj


63. A trader marks his goods at 40% above the

cost price and allows a discount of 25% what is his

gain percentage?

A. 5

B. 10

C. 20

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FCI1ODTO4tQj
https://dl.doubtnut.com/l/_X1HPX2Cp0fPI


64. At what rate percentage per annum simple

Interest will a sum triple itself in 16 years?

A. 0.12%

B. 12.5%

C. 0.15%

D. 

Answer:

Watch Video Solution

6 %
1

4

https://dl.doubtnut.com/l/_y5iZlM1MkCSM


65. Simplify: - 

A. 1

B. 0

C. 2

D. 

Answer:

Watch Video Solution

− ( − )
4

5

3

7

15

16

14

9

1

2

66. The multiplicative inverse of  is-
3

40

https://dl.doubtnut.com/l/_YJRJjbjXFNIV
https://dl.doubtnut.com/l/_VVO9w8a4XfJH


A. 1

B. 0

C. Any number

D. None of these

Answer:

Watch Video Solution

67. Find the value of 

A. -9

B. 9

( − 6) ÷
2

3

https://dl.doubtnut.com/l/_VVO9w8a4XfJH
https://dl.doubtnut.com/l/_rWQ7xCaphptI


C. -4

D. None of these

Answer:

Watch Video Solution

68. Write the next rational number in pattern:

A. 

B. 

C. 

− , − , − , −
3

5

6

10

9

15

12

20

12

25

15

25

−
15

25

https://dl.doubtnut.com/l/_rWQ7xCaphptI
https://dl.doubtnut.com/l/_YqjUQTzl8Cbj


D. None of these

Answer:

Watch Video Solution

69. What is the statement for the expression

?

A. 5 more than  of product of m and n

B. 5 more than 3 times the product of the

number m and n

3mn + 5

1

3

https://dl.doubtnut.com/l/_YqjUQTzl8Cbj
https://dl.doubtnut.com/l/_Rs0bJ1GQm8eH


C. Number 5 added to 3 times the product of

m and n

D. Number 5 added to product of number m

and n

Answer:

Watch Video Solution

70. Subtract a-b from a+b the result is-

A. 

B. 2a

2a + 2b

https://dl.doubtnut.com/l/_Rs0bJ1GQm8eH
https://dl.doubtnut.com/l/_69qT9vFCkjsr


C. 2b

D. 2a-2b

Answer:

Watch Video Solution

71. The value of expression  for

x=2

A. -3

B. 31

C. 12

x + 7 + 4(x − 5)

https://dl.doubtnut.com/l/_69qT9vFCkjsr
https://dl.doubtnut.com/l/_thJTrsAEXw76


D. 37

Answer:

Watch Video Solution

72. Simplify and write in exponential form of

A. 

B. 

C. 

D. None of these

( − 4)100 × ( − 4)20

( − 4)120

( − 4)80

( − 4)200

https://dl.doubtnut.com/l/_thJTrsAEXw76
https://dl.doubtnut.com/l/_VCw4hVpEnqJK


Answer:

Watch Video Solution

73. The approximate distance of Moon from the

earth is 384,467,000 m 

and in exponential form this distance can be

written as..........

A. 

B. m

C. m

3.84467 × 108

384, 468 × 10− 8

384, 467 × 10− 9

https://dl.doubtnut.com/l/_VCw4hVpEnqJK
https://dl.doubtnut.com/l/_OxuJnbQKd4uB


D. m

Answer:

Watch Video Solution

3.84467 × 10− 13

74. The value of  is given by-

A. 

B. 7

C. 

D. -7

72

73

1

7

1

14

https://dl.doubtnut.com/l/_OxuJnbQKd4uB
https://dl.doubtnut.com/l/_8ihDPP8pPrSu


Answer:

Watch Video Solution

75. The value of  is -

A. 1

B. 0

C. 24

D. None of these

Answer:

Watch Video Solution

20 × 30 × 40

https://dl.doubtnut.com/l/_8ihDPP8pPrSu
https://dl.doubtnut.com/l/_kDRfB0CQGjPO


Watch Video Solution

76. 2 subtracted from 7 gives-

A. -9

B. 5

C. -5

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kDRfB0CQGjPO
https://dl.doubtnut.com/l/_yAxR7oUnqETc


77. What will be the additive inverse of -1?

A. -2

B. -1

C. 0

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_LQQK5NqP5eW9


78. In addition, and subtraction of two integers,

the sign of the answer depends upon-

A. Smaller number

B. Their difference

C. Their sum

D. Greater numerical value

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bzjJR9hkLjkN


79. Which property is reflected of the following

?

A. Closure

B. Commutative

C. Associative

D. Distributive

Answer:

Watch Video Solution

7 × 5 = 5 × 7

https://dl.doubtnut.com/l/_A06DfVsf144h


80. Which of the following gives the value ?

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

78

5

35
1

5

1

3

3 ×
5

26

81. Which of the following is the least form of 
18

36

https://dl.doubtnut.com/l/_AETjG5BwcddP
https://dl.doubtnut.com/l/_RpS43W6pPsbX


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

6

9

18

1

2

2

1

82. The solution of the equation  is p=

A. 12

B. 13

p + 4 = 15

https://dl.doubtnut.com/l/_RpS43W6pPsbX
https://dl.doubtnut.com/l/_pjTFXEcBW2ls


C. 11

D. 14

Answer:

Watch Video Solution

83. If two lines intersect at a point, then the 

vertically opposite angles are always.......

A. Equal

B. Supplementary

C. Complementary

https://dl.doubtnut.com/l/_pjTFXEcBW2ls
https://dl.doubtnut.com/l/_zasu1PkoKw8A


D. Unequal

Answer:

Watch Video Solution

84. How many medians a triangle will have?

A. 2

B. 1

C. 3

D. 0

https://dl.doubtnut.com/l/_zasu1PkoKw8A
https://dl.doubtnut.com/l/_xxtPxQT7WUXE


Answer:

Watch Video Solution

85. Which is the longest side in the triangle PQR 

right angled at P?

A. PQ

B. QR

C. PR

D. None of these

Answer:

https://dl.doubtnut.com/l/_xxtPxQT7WUXE
https://dl.doubtnut.com/l/_Qd6gH8mASYI9


Watch Video Solution

86. In a  and , then

the measure of  is-

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC∠A = 35∘ ∠B = 65∘

∠C

50∘

80∘

30∘

60∘

https://dl.doubtnut.com/l/_Qd6gH8mASYI9
https://dl.doubtnut.com/l/_6HZjC34ksimv


87. Find the ratio of 3km to 300 m-

A. 

B. 0.048611111111111

C. 0.045138888888889

D. None of these

Answer:

Watch Video Solution

10: 1

https://dl.doubtnut.com/l/_6HZjC34ksimv
https://dl.doubtnut.com/l/_2OtKzsOwQYot


88. Find the ratio of speed of a cycle 15 km per

hour to the speed of scooter 30km per hour-

A. 

B. 0.043055555555556

C. 0.17013888888889

D. None of these

Answer:

Watch Video Solution

2: 1

https://dl.doubtnut.com/l/_J3fsnbjFeHYi


89. Cost of an item is Ra. 50. It was sold with a

profit of 12% find the selling price.

A. Rs. 56

B. Rs.60

C. Rs.70

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AeLLZrIrYkFk


90. ............. is the identify for the addition of

rational number-

A. 1

B. 0

C. -1

D. 

Answer:

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_RtDGPPGU9xNf


91. The reciprocal of a positive rational number.

A. Negative

B. Positive

C. Zero

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JByOC1Kv7ocS


92. Find x such that  and  are equivalent

rational numbers.

A. 3

B. 8

C. 9

D. None of these

Answer:

Watch Video Solution

−
3

8

x

−24

https://dl.doubtnut.com/l/_UUfttLYgwQjs


93. The points P, Q, R, S, T, U and V on the number

line such that, US=SV=VR, and WT=TP=PQ. The

rational number represented by P.

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

3

5

2

5

4

5

https://dl.doubtnut.com/l/_kzRuE1Geob7Q


94. The points P, Q, R, S, T, U and V on the number

line such that, US=SV=VR, and WT=TP=PQ. The

rational number represented by Q.

A. 

B. 

C. 

D. None of these

Answer:

3

5

2

5

4

5

https://dl.doubtnut.com/l/_kzRuE1Geob7Q
https://dl.doubtnut.com/l/_IDnSHAEFrhW0


Watch Video Solution

95. The points P, Q, R, S, T, U and V on the number

line such that, US=SV=VR, and WT=TP=PQ. The

rational number represented by W.

A. 

B. 

C. 

D. None of these

3

5

2

5

4

5

https://dl.doubtnut.com/l/_IDnSHAEFrhW0
https://dl.doubtnut.com/l/_Bt2ekqqOZVgx


Answer:

Watch Video Solution

96. The points P, Q, R, S, T, U and V on the number

line such that, US=SV=VR, and WT=TP=PQ. The

rational number represented by V.

A. 

B. 

C. 

−
3

5

−
2

5

−
4

5

https://dl.doubtnut.com/l/_Bt2ekqqOZVgx
https://dl.doubtnut.com/l/_3Xtb1cmOJEvJ


D. None of these

Answer:

Watch Video Solution

97. What is the statement for the expression 2y-9?

A. 2y subtracted from 9

B. Thrice of y minus 9

C. 9 substracted from y and multiplied by 2

D. 9 substracted from 9

https://dl.doubtnut.com/l/_3Xtb1cmOJEvJ
https://dl.doubtnut.com/l/_2pjjkhW8O7sr


Answer:

Watch Video Solution

98. Vertex opposite to the side RT of 

A. S

B. T

C. R

D. None of these

Answer:

Watch Video Solution

△ RST −

https://dl.doubtnut.com/l/_2pjjkhW8O7sr
https://dl.doubtnut.com/l/_QMjRStitYQba


Watch Video Solution

99. In , where M is the Midpoint of 


the side QR, then PM is-

A. Median

B. Altitude

C. Bisector

D. Side

Answer:

Watch Video Solution

△ PQR

https://dl.doubtnut.com/l/_QMjRStitYQba
https://dl.doubtnut.com/l/_aLa3cp05WenX
https://dl.doubtnut.com/l/_9VlBMm6NtKlD


100. Use the sign of  or  in the box to

make the statements true. (-8)+(-4) .............. (-8)-(4)

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

> , < =

>

<

=

https://dl.doubtnut.com/l/_9VlBMm6NtKlD


101. Use the sign of  or  in the box to

make the statements true. ............

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

> , < =

( − 3) + 7 − (19)

15 − 8 + ( − 9)

>

<

=

https://dl.doubtnut.com/l/_cb3qrOanTkQy
https://dl.doubtnut.com/l/_9fmqidJifw8j


102. Use the sign of  or  in the box to

make the statements true. .........

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

> , < =

23 − 41 + 11

23 − 41 − 11

>

<

=

https://dl.doubtnut.com/l/_9fmqidJifw8j


103. Use the sign of  or  in the box to

make the statements true. 

.........

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

> , < =

39 + ( − 24) − (15)

36 + ( − 52) − ( − 36)

>

<

=

https://dl.doubtnut.com/l/_mXBdhlB0XoCL
https://dl.doubtnut.com/l/_8ttQEs0QlWzX


104. Use the sign of  in the box to 


make the statements true. 

.........

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

> , < or =

−231 + 79 + 51 −399 + 159 + 81

>

<

=

https://dl.doubtnut.com/l/_8ttQEs0QlWzX


105. how many books were sold in 1989?

A. 100

B. 200

C. 300

D. 600

Answer:

https://dl.doubtnut.com/l/_03bluIuKNFPi


Watch Video Solution

106. In which year were 400 books sold?

A. 1990

B. 1991

C. 1993

https://dl.doubtnut.com/l/_03bluIuKNFPi
https://dl.doubtnut.com/l/_OQ1oenxp1lHF


D. 1989

Answer:

Watch Video Solution

107. In which year fewer than 200 books sold?

A. 1989

https://dl.doubtnut.com/l/_OQ1oenxp1lHF
https://dl.doubtnut.com/l/_RxGr84TrGcFY


B. 1991

C. 1993

D. 1992

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RxGr84TrGcFY


108. How many books were sold from 1989 to 1991?

A. 600

B. 900

C. 400

D. 800

Answer:

https://dl.doubtnut.com/l/_6NpNebf911nY


Watch Video Solution

109. How many books were sold from 1991 to 1993?

A. 1300

B. 1000

C. 900

https://dl.doubtnut.com/l/_6NpNebf911nY
https://dl.doubtnut.com/l/_EZXZHu46SIIi


D. 800

Answer:

Watch Video Solution

110. Which one of the following represents the

expansion ?

A. 20.03

B. 2.03

C. 200.03

D. 2.034

2 × 10 × 1 + 0 × + 3 ×
1

10

1

100

https://dl.doubtnut.com/l/_EZXZHu46SIIi
https://dl.doubtnut.com/l/_J6Iuf8KDNfdU


Answer:

Watch Video Solution

111. Which of the following drawings shows

?

Watch Video Solution

3 × = 2
3

4

1

4

https://dl.doubtnut.com/l/_J6Iuf8KDNfdU
https://dl.doubtnut.com/l/_9qY9irSFuVXZ


112. Which of the following does not represent

pair of integers (a, b) such that ?

A. (-6, -3)

B. (-2,1)

C. (-10, -5)

D. (8, 4)

Answer:

Watch Video Solution

= 2
a

b

https://dl.doubtnut.com/l/_VDQuFm2rNVS2


113. Product of two negative integers is always-

A. Always negative

B. Always positive

C. 0

D. Either positive or negative

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PKsx1nAvPNu8


114. Which one of the following is improper

fraction?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

3

5

7

7

4

1

2

https://dl.doubtnut.com/l/_7Ejwlr6iHAX4


115. Which of the following is greater?

A. 5

B. 0.5

C. 0.005

D. 0.05

Answer:

Watch Video Solution

116. The solution of the equation  is m=m − 7 = 3

https://dl.doubtnut.com/l/_QDM7aqmFF0d4
https://dl.doubtnut.com/l/_xt5lUM7gquYH


A. 10

B. 13

C. 12

D. 11

Answer:

Watch Video Solution

117. The solution of three times a number and 11 is

32. Find the number.

A. 6

https://dl.doubtnut.com/l/_xt5lUM7gquYH
https://dl.doubtnut.com/l/_jWcbMgFsZK5J


B. 7

C. 8

D. None

Answer:

Watch Video Solution

118. Thrice a number when increased by 5 gives 44,

find the number.

A. 12

B. 13

https://dl.doubtnut.com/l/_jWcbMgFsZK5J
https://dl.doubtnut.com/l/_isNX5sx0hlC2


C. 15

D. None of these

Answer:

Watch Video Solution

119. Find the angle, which is equal to its

complement is :

A. 

B. 

C. 

30∘

25∘

35∘

https://dl.doubtnut.com/l/_isNX5sx0hlC2
https://dl.doubtnut.com/l/_xvxsoJl5JfPU


D. 

Answer:

Watch Video Solution

45∘

120. Find the supplement of 

A. 

B. 

C. 

D. 

105∘

80∘

65∘

75∘

100∘

https://dl.doubtnut.com/l/_xvxsoJl5JfPU
https://dl.doubtnut.com/l/_q8rkwtK8NVFX


Answer:

Watch Video Solution

121. The sum of lengths of any two sides of a

triangle is ............. the third side of the triangle.

A. 1. greater

B. 2. smaller

C. 3..equal

D. None

Answer:

https://dl.doubtnut.com/l/_q8rkwtK8NVFX
https://dl.doubtnut.com/l/_rqdgow4vZRSX


Watch Video Solution

122. Which is a solution of the equation

?

A. x-4=2

B. x+4=9

C. x+9=4

D. None of these

Answer:

Watch Video Solution

3x − 14 = 4

https://dl.doubtnut.com/l/_rqdgow4vZRSX
https://dl.doubtnut.com/l/_m7klKP8ZyXM2


123. Find the number such that one fifth of it

minus 

4 gives 3.

A. 45

B. 25

C. 35

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_m7klKP8ZyXM2
https://dl.doubtnut.com/l/_arXrxsIln1Fr


124. Where does the number  lies?

A. Between 4,5

B. Between 3,4

C. Between 3,6

D. Between 3,5

Answer:

Watch Video Solution

3
4

5

https://dl.doubtnut.com/l/_ilIK0P2NmMQX


125. Which triangle can be constructed with a

single 

independent measurement-

A. Equilateral triangle

B. Isosceles triangle

C. Scalene triangle

D. Cannot be constructed

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pPRd4lBlinoT
https://dl.doubtnut.com/l/_NEzS4XUyOf0Q


126. How many  parts in 5?

A. 1

B. 5

C. 15

D. 25

Answer:

Watch Video Solution

1

5

127. If a= 5, b=2, c=3 then =(a ÷ b)c

https://dl.doubtnut.com/l/_NEzS4XUyOf0Q
https://dl.doubtnut.com/l/_8jGX0svc5QDA


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

25

55

23

53

53

23

52

32

128. Rohan went to a school which is 1 km away

from his home. He travelled 0.85 km by bicycle

https://dl.doubtnut.com/l/_8jGX0svc5QDA
https://dl.doubtnut.com/l/_eRwegGTr8Jb1


remaining by walk. Then what is the percentage of

the distance travelled by walk?

A. 0.85

B. 0.15

C. 0.35

D. 0.75

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eRwegGTr8Jb1


129. Choose the Net of given 3D shape

Watch Video Solution

https://dl.doubtnut.com/l/_mIQ8ZSKs0676


130. The order of rotational symmetry of a square

is

A. 2

B. 1

C. 3

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9sISpY4EklXM


131. The dimensions of a cell phone-

A. 1D

B. 2D

C. 3D

D. None

Answer:

Watch Video Solution

132. Sum of the complementary angles is-

https://dl.doubtnut.com/l/_KhBPjeG2PCXI
https://dl.doubtnut.com/l/_aZWljqKEV1dr


A. Obtuse angle

B. Right angle

C. Acute angle

D. Reflex angle

Answer:

Watch Video Solution

133. How many times the circumference of a circle 

to its diameter?

A. π

https://dl.doubtnut.com/l/_aZWljqKEV1dr
https://dl.doubtnut.com/l/_BKluUuhiNcX8


B. 

C. 

D. 

Answer:

Watch Video Solution

2π

3π

4π

134. The supplementary angle of  is-

A. 

B. 

C. 

70∘

20∘

110∘

290∘

https://dl.doubtnut.com/l/_BKluUuhiNcX8
https://dl.doubtnut.com/l/_7voq2zw41w5b


D. 

Answer:

Watch Video Solution

70∘

135. =

A. -12

B. -11

C. 132

D. 0

( − 12) × ( − 11) × 0

https://dl.doubtnut.com/l/_7voq2zw41w5b
https://dl.doubtnut.com/l/_sA8vMXYMnMhS


Answer:

Watch Video Solution

136. Which of the following is an equivalent

fraction of ?

A. 

B. 

C. 

D. A, B and C

Answer:

4

7

8

14

12

21

16

28

https://dl.doubtnut.com/l/_sA8vMXYMnMhS
https://dl.doubtnut.com/l/_yTZ6paFmlN5E


Watch Video Solution

137. The integral part of 12714.26 is -

A. 12714

B. 0.2

C. 0.26

D. 12714.26

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yTZ6paFmlN5E
https://dl.doubtnut.com/l/_2mxUY5EmreGu
https://dl.doubtnut.com/l/_1XSC2iSAI3up


138. If  then 

A. 6

B. 24

C. 135

D. 

Answer:

Watch Video Solution

X + 9 = 15 X =

5

3

139. In , ,  then 


=

△ XYZ ∠X = 30∘ ∠Y = 45∘

f ∈ d∠Z

https://dl.doubtnut.com/l/_1XSC2iSAI3up
https://dl.doubtnut.com/l/_fLdaDy9o5CNT


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

75∘

15∘

95∘

105∘

140. The smallest number in the group is: 

A. -2

2, − 2, 3, 4, 0, − 5

https://dl.doubtnut.com/l/_fLdaDy9o5CNT
https://dl.doubtnut.com/l/_CjeCm66ZaqVd


B. -5

C. 0

D. 3

Answer:

Watch Video Solution

141. The correct equation form for the figure is-

A. X+11=15

https://dl.doubtnut.com/l/_CjeCm66ZaqVd
https://dl.doubtnut.com/l/_K6xzrmzmDviV


B. X+26=0

C. X-15=0

D. X+15=11

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_K6xzrmzmDviV


142. In the figure,  then, 

=

A. 

B. 

C. 

D. 

Answer:

l/ /m∠AQE = 100∘

∠PQB

100∘

80∘

260∘

0∘

https://dl.doubtnut.com/l/_uxRzeqlxItc1


Watch Video Solution

143. The side of a square is x metres, and the 

perimeter is 28 metres. Then find x.

A. 6 m

B. 6 cm

C. 7 m

D. 7 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uxRzeqlxItc1
https://dl.doubtnut.com/l/_XUqWpjUKovo1


144. The angle that cannot be formed by an

opened scissors is

A. Acute angle

B. Obtuse angle

C. Right angle

D. Straight angle

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XUqWpjUKovo1
https://dl.doubtnut.com/l/_NAIZK2peFUen


145. Which of the following statements represent 

parallel lines?

A. Opposite edges of a black- board

B. Adjacent edges of a door

C. 2 rails of a railway track

D. A and C

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WbInGWIrVwqm


146. In a class of 20 students, 10 students present 

on Saturday, then the percentage of the

attendance on Saturday is-

A. 0.3

B. 0.4

C. 0.5

D. 0.6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KsTx0gp3ORUS
https://dl.doubtnut.com/l/_wabUYZNSuuO5


147. A purse contains Rs. 100 in the denomination 

of Rs. 10 and Rs. 50 notes. Number of Rs. 10 

notes are 4 more than that of Rs. 50 notes. Then

the number of Rs. 10, Rs. 50 notes are respectively

A. 4,2

B. 5,2

C. 4,1

D. 5,1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wabUYZNSuuO5
https://dl.doubtnut.com/l/_ks6gcKpW1YdK


148. In the given figure, the value of x + y is-

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

120∘

190∘

110∘

180∘

https://dl.doubtnut.com/l/_ks6gcKpW1YdK


Watch Video Solution

149. Which of the following is a symbol of a Ray?

Watch Video Solution

150. Which of the following is an acute angle?

A. 1. A

B. 2. B

https://dl.doubtnut.com/l/_ks6gcKpW1YdK
https://dl.doubtnut.com/l/_fDkDJrJ8hTOs
https://dl.doubtnut.com/l/_c4hn6IhYsBrP


C. 3. C

D. A, B and C

Answer:

Watch Video Solution

151. In the figure ABCD, the shaded part

represents?

https://dl.doubtnut.com/l/_c4hn6IhYsBrP
https://dl.doubtnut.com/l/_afukLzkamU5O


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

5

2

5

3

5

4

5

152. The correct representation for 2+3=5 on a

number line is––

https://dl.doubtnut.com/l/_afukLzkamU5O
https://dl.doubtnut.com/l/_OIg6uT6dT9rz


Watch Video Solution

https://dl.doubtnut.com/l/_OIg6uT6dT9rz

